Inverse Trigonometric Functions

Graphical	Repre	esentation								
In its sim	plest ·	form, the	inver	se of	the -	functi	ion fi	x) th	at send	1 x to y is
just the fu	nction	g(y) tha	t send	ds y	to x	for a	ll x iv	the	domai	n. In words,
if you app	shy f	then g to	a nun	nber	x , q	(F(x)).	then	You	get x	back. We
can use thi	s Knou	wledge to	graph	the	inver	ses o	f tric	jonon	netric	functions
		Ŭ	· ·							
y = sin(x)									N=(arcsin(x)
			Key r	points					•	TT / 2
			X O	포막	<u>т</u> 3 2	<u>211</u> 3	-11.	- <u>T</u> - <u>T</u>	- <u>2</u> 1 3	Wis
			ll	II	II	Ţ	I I	ŢŢ	Ţ	TH
-2π -1		Т	N 0		12 1	13	$-\frac{1}{2}-\frac{1}{2}$	·5 -1	- NICA	Tile
· \	-1		I I	1 I	1 I	wait!	ŢŢ	I I	again?	
			× 0	T U U U	<u>T</u> <u>3</u>	hmm.	-=	-1-2	-1	· ·
We ran into	an is	sue we	want	to s	01 Z	goes	to $\frac{2}{3}$	™, bu	+	
we have alr	ready	said it goe	s to f	₩. <u></u> <u> </u>	wou	lð fa	il the	vertic	ial /	-πιε
line tes if w	be sent	it to bot	h 60	wem	ust s	stop h	nere.			
Now let us .	find d	omain and	range	from	thes	e gra	phs:			
(i) $\gamma = sin(x)$)	domain: (·	0,00)		ra	nge:[-1,1]			
(ii) y = arcsir	lx)	domain: [-	1,1] [0	n you a	ee ra	nge:[- π/2, π	12]		
			ho	w thes	e rela	te?				

Trigonometric Representation

Now that was great visually, but could you tell me derivative of arcsin(x)? Probably not from this alone. So we go back to triangles-math's best friend.

Let us recall geometrically what sine means and then infer its inverse. We start with a triangle with hypotenuse of length 1.

$\frac{1}{1}$ sin(Θ) = $\frac{1}{1}$ since	$arcsin(y) = \Theta$
θ takes an ratio	takes a gives an
pythagorean angle	
Algebraically: sin(0) = y arcsin(sin(0)) = arcsi	n(y)
0=arcsin(y)	

<u>Derivatives FIntegrals</u>			
We can now use this geometric d	efinition to fin	d the derivative c	ht.
0=arcsinly) using implicit differen	ntation and the	triangle above.	
$\Theta = \arg(in(x))$ $\frac{d\theta}{dx} = \frac{d}{dx}$	ciplul which		
$sin(\theta) = v$ established above	CSITICITY WHICH		
dylsin(0)]= dy[y] derive with resp	ect to variable	needed	
$\cos(\theta) \cdot \frac{d\theta}{dy} = 1$			
$\frac{d\theta}{dy} = \frac{1}{\cos(\theta)}$			
We almost have what we want. Th	ere is a desky c	os(0) that we nee	d to
replace using the triangle.			
adjacent			
1 N COS(B)= hypotenuse			
$\theta = \frac{1 - \sqrt{2^{1}}}{1}$			
Thus $\frac{d\theta}{dy} = \frac{1}{\cos(\theta)} = \frac{1}{\sqrt{1-y^2}}$.			
The rest of the inverse trigonometric	functions can b	e derived similiarly	4.
$ax Lu(CSII)(x) = 41 - x^{2}$ $341 - x^{3}$	ax = arcsin(x) + c		
$\frac{d}{dx} \left[arc \cos(x) \right] = \frac{+1}{\sqrt{1-x^2}} \qquad \qquad \int \frac{-1}{\sqrt{1-x^2}}$	dx = -arcsin(x) + c	we use the int	egral rule
$\frac{d}{dx} \left[\arctan(x) \right] = \frac{1}{1+x^2} \qquad \qquad \int \frac{1}{1+x^2} dx$	lx=arctan(x)+c	$\mathbf{JC} + \mathbf{F}(\mathbf{X}) \mathbf{G} \mathbf{X} = \mathbf{C} \cdot \mathbf{X}$) + (x) ax
<u>Examples</u>			
1. Find the derivative of $v = (1+2x)^{arcta}$	n(x)		
We do not know how to take the a	erivative of fungl	*)so we use log r	ules.
$\ln(y) = \ln[(1+2x)^{\arctan(x)}] \ln both$	sides		
$\ln(y) = \arctan(x) \cdot \ln(1+2x) \ln(x^{a}) = a$	·In(x)		
product rule: +'9+9+			

	$\frac{1}{N}$	• <u>d</u>	=(ī	 + X ²)(,	nl1+	Zx)) + (·	1 1+2×	:-2)(a	rct	an ((x)															
	dy dx	= \	. [<u>'</u>	<u>n(1+</u>	<u>·2x)</u> K ²	+ 1+	2 ·2× ·	arc	tan	.(x)]																		
	dy dx	· = (·	+2	,ar x)	ctar	1(X) _.	<u>[h</u>	(1+2 + x ²	<u>×)</u> +	- 1+2	2x*(arc:	an	(x)]															
2	F :		ho				ر . مړ	016		017		.2\		Ц.			-11			b:1	- L		line		06	0.0	000	tar	nt.
Z. Re	ca			rcs	inb	()]=	T -	×2'	, +	hus		τ[a	rcs	inl	u)]	= <u>1</u>	- 4°			2111		i eu		Y	US	u	Unc		<u>]</u>].
	d dx	[ar	csi	nl	2xt	y ²)]=	<u>11-</u>	l lZxt	·Y²) ¹	5 •	(2)		yi	s a	co	nst	ant	S	े तै	×[2	2×+	۲ ²]	= 2					
3.	Fir	d t	he	der	i va	ive	of	ar	csii	nlz	2xt	y ^z)	wi	th .	res	per	ct t	0 \	l U	hil	e t	rea	tina	λX	as	a (cona	star	nt.
	d du	Fai	cs	in (2x+	(²)] = J	1 - 1	1 2x+1	212,	·(2	N)		x is	sa	cor	nsta	ant	S	5 8		7×+	~ \^2]	=2	7				
Ц	N			Lia		. / L \						• 11: -			C V								dia		La	ملا		L	
dy dt	= <u>1</u>	POP	. Fi	nd	the	$\frac{10}{10}$	tal	ch	nits	5 01 <u>9e</u>	in	the	e s) 0 [.] ize	of	th	e p	na popi	grc ula:	tion	יט סר	ver	th	e t	ime	e d	ura	tion	n
04	t≤	Y2				de	etini	te	inte	gra																			
	7.	1+	4£ ²	dł		50	clo	se	to	74	+ X2	dx	= a	rct	an (x) †	C												
	50	1+(.Zt) ¹	dł		4ť2	= 2².	t ² =	lzŧ	;) ²	50	we	ho	Ne	1+	u ^z I	nou	>											
	u=	ZŁ	d	lu=:	2dt		low	er :	2(0)	= 0		upț	per	= 2('	/z)=	1													
	ľ	 +4 ² '	·	du																									
	= 1 = 1 2	Jo ii arc	tar	du Ilu)	10																								
	= 1/2	larc	tar) ())	- <i>O</i> N	cta	nlc))]		Orc	tar	h(1)=6			arc	ta	n (0))=6	sir	\(0)								
	= 2 _ π	L "/	' 4 –	Ol						1 : A :	τ0 	n (8	")			0:	= t0 < <iv< th=""><th></th><th>))=)</th><th>ca</th><th>\$(@)</th><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th></th></iv<>))=)	ca	\$(@)								
		.0														θ=	0												
5.	Us	e ł	he	un	it (circ	le	or	tri	ang	gle	s ł	0	fina	:														
(a)	arc =π/	csir 3	1 (13	972)				(b)	arc = - 1	sir T 3)(-`	13'/2	:)			C. () - π	cos 13	5(2)			d.0	rc [.] = -	tan ∏/4	(-1))		
		LE.									Ī							(近)								-			
		12 2	(III) (IIII) (III)	:)				- ,	1-2		Star in						Z	(1)	(J=) (J)) ()				1-2-1	1111	STANK)			
			1						14		<i>,</i>													14					



Exit Ticket Natural Log

Fill in the following rules:1. $\ln(a) + \ln(b) = \ln(ab)$ 3. $\ln(x^a) = a \cdot \ln(x)$ 4. $\ln(ax^b) = \ln(a) + b \ln(x)$ 5. $\frac{d}{dx} [\ln(ax+b)] = \frac{1}{ax+b} \cdot a$ 6. $\int \frac{a}{ax+b} dx = \ln[ax+b] + c$

Use the above rules to solve the following equations for x:

1.
$$\int \frac{1}{2x+5} dx$$
 u=2x+5
= $\frac{1}{2} \ln |2x+5| + c$
2. $\int \frac{1}{x+12} dx$
= $\ln |x+12| + c$

3.
$$\frac{d}{dx} \left[\ln \left(\frac{1-x}{1+x} \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(1-x \right) - \ln \left(1+x \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(1-x \right) - \ln \left(1+x \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(2x^2 - 3 \right) + \ln \left(3x^3 - 6 \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(2x^2 - 3 \right) + \ln \left(3x^3 - 6 \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(2x^2 - 3 \right) + \ln \left(3x^3 - 6 \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(2x^2 - 3 \right) + \ln \left(3x^3 - 6 \right) \right]$$

$$= \frac{d}{dx} \left[\ln \left(2x^2 - 3 \right) + \ln \left(3x^3 - 6 \right) \right]$$

5.
$$\int \frac{2x}{4x^2 + 12} dx$$

$$u = 4x^2 + 12$$

$$du = 8x dx$$

$$\frac{1}{4} du = 2x dx$$

$$= \frac{1}{4} \ln|4x^2 + 12| + C$$

$$= \frac{1}{4} \ln(4x^2 + 12) + C$$

6.
$$\int \frac{5x + 7}{5x^2 + 14x + 6} dx$$

$$u = 5x^2 + 14x + 6$$

$$du = 10x + 14) dx$$

$$du = 10x + 14) dx$$

$$du = 2(5x + 7) dx$$

$$= \int \frac{1}{2} du = (5x + 7) dx$$

$$= \frac{1}{2} \ln 101 + C$$

$$= \frac{1}{2} \ln 101 + C$$

$$= \frac{1}{2} \ln 101 + C$$

$$= \frac{1}{2} \ln 105x^2 + 14x + 61 + C$$

$$= \frac{1}{2} \ln (5x^2 + 14x + 6) + C$$

Produced by Audriana Houtz, Mathematics Ph.D. student at the University of Notre Dame.